20178 & 20

[0 O
oy k-
oY o &

N & 0l & At

&b dBESIH & H
CAEExd
A WIS HMel

g Al

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
=] 77,155,425 61,067,521 16,087,904
= 480,000
Al 76,675,425
HAS ST AEEXH 71,805,720 55,566,361 16,239, 359
= 480,000
Al 71,325,720
S3A Hol2 KAl 40,796,012 32,848,271 7,947,741
MEHIIZS Heled 16,551,924 14,115,823 2,436,101
201 Bt A | 50,198 49,433 765
1 AFR 22l 8l 32,468 34,855 N2,387
OFA8HE E2=2 HNE 20,000, 000& 20,000
OUXEINF SHMEEXNRA =206 & EEY|
2,000& *4,000H 8,000
ORFA MYIISHHZ AMUEG T o &4
=< 70,000& 118 x23| 1,540
OMAHADIESHMEE SFHA AAE S X HI
2,928,000& 2,928
02 352494l 17,730 14,578 3,152
OXt&E s X bl 17,730
— Xt = XA 370
SEI(EEH) 90, 000& ~1LH 90
SEI(EY) 80, 000& *1CH 80
S (AEH) 30,000& ~1CH 30
StExH (YY) 170, 000& *1CH 170
— SN RE S 1,010
SEIEY) 120,000& = 1CH 120
SIS XH(ASEHIIE £=2) 200,000 «2CH 400
S E2RH(AE) 120, 000& ~1CH 120
StExH(HE) 370,000& = 1CH 370
— 5282 3,600
s21(FE) 300, 000& = 1CH 300
SSIHEY) 400,000 = 1CH 400
SIS XH(ASEH IS £=2H) 600,000 «2CH 1,200
SIS (AE) 700,000 = 1CH 700
StEXH(HE) 1,000,000 = 1CH 1,000
— R FH| 6,750
sEI(EEY) 1,850 %904 *1CH~12& 1,998
SEIEY) 1,650& 1204 *1CH*12& 2,376
SIEXH(AEEIIE =)
1,650& *604 *2CH*12& 2,376
— %2/ 4| 6,000
s21(FE) 1,000, 000& *1CH 1,000
SEIHEY) 1,000, 000& 1LH 1,000
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SA: A
B MU CABAXA
ool EAX HIIZ Hel EEREED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
cSIEX(AEEONE =)
2,000,000& =2LH 4,000
206 M = Hl 1,619,208 1,729,592 AN 110,384
01 & bl 1,619,208 1,729,592 A 110,384
oMYl SHHSE M 1,619,208
— YUt E 789,047
+ 54 34.42% x1,000,0000H 34,420
- 102 41.64& 4,000, 00004 166,560
- 200 60. 112 x3,500,0000H 210,385
- 504 149.73& *1,000,0000H 149,730
- 1004 253.28& *900, 0000H 227,952
— HAFE (204 ) 61.13& x3,500,0000H 213,955
— 20302 ) 390 %40, 0000H 15,600
—SAZ2E8 600,606
- 14 17 .93& *3,500, 000 0H 62,755
- 24 22.93& %10,000, 0000H 229,300
- 34 24 .93 & x6,000, 0000H 149,580
- 54 34.42% %2 ,200,0000H 75,724
- 102 41.64& =700, 00004 29,148
- 208 60.11& %900, 0000H 54,099
207 A IR & H] 66,000 44,000 22,000
01 A2 sS<H| 66,000 44,000 22,000
OMEHIIE 48 - 20 oy 4% g
22,000,000& 22,000
OMEHII S =& - 26t (HE XM HAa0/aE
ot 249 22,000,000& 22,000
OJ2&EA "N ARNEA 22,000,000 22,000
301 dEtE A= 2,000 2,000 0
11 IIEtE A2 2,000 2,000 0
OfAX MYJ| SHNHNSE aAln24a3
2,000,000 2,000
303 &3 6.000 0 6,000
01 ZAZ 6,000 0 6,000
OFAZE0 2 5 FOUMEH FHOt A& 6,000
— X% 2,000,000& 10 = 2,000
— 2= 1,000,000& *2 = 2,000
- &d 500,000& x4 = 2,000
307 QI2t0| ™ 11,867,586 11,717,998 149,588
05 QIZtR E 2 11,867,586 11,717,998 149,588
OMetM Il =& - 2EF tH&E Y|
11,080,742,000& 11,080,742
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M HA
M HPE CABAZH
ool AN HIIS Hel GO
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZ=aoll 3t & Mo, MHA 2ASHIIS H
cldl 50,000
— LAESE 23| 25,000,000& 25,000
—HJI=S H™clhl 25,000,000& 25,000
OzXZHelE =AM X 23| 736,844
— dBtM D] 21,3493 x110= %280 657,550
— HETH 39,6473 x2,000&E 79,294
308 XXM SO0 A 2,888,932 572,800 2,316,132
07 IXNSHH AR S = 2,112,413 572,800 1,539,613
OUHBNE AMHEE 23
1,000,000,000& *20.5% 205,000
O+CAMYX HEHIIS 2 +48
44,990% 110E 280 1,385,692
O X MIMWBEH(SH)ZLEAMY 2E
= 521,721,000 521,721
10 BN 2SUSBAHH A 776,519 0 776,519
OMY) SHHNEE T MSHI(SH)
776,519,000 776,519
405 XHoHF S HI 52,000 0 52,000
01 AL EZFH S 52,000 0 52,000
ogseA 3¢ 13,000,000 *4CH 52,000
LA K& 9,548,265 8,166,118 1,382,147
203 YR =&t 4,800 5,000 A 200
03 Al =X YR =& 4,800 5,000 2200
OHA U ME2E AY A2F
4,800,000& 4,800
307 21201 A 8,965,964 8,141,518 824,446
05 RIZt2E = 8,965,964 8,141,518 824,446
ON2H A 22ty 5,383,696
— AL | 5,383,695,300& 5,383,696
O==22Z2 32 2| 3,582,268
— AN /S 3,582,268,000& 3,582,268
308 XX EHHSOIA 577,501 0 577,501
10 B2 S0 B H A AR 577,501 0 577,501
OAg2el3 /& 577,501,000& 577,501
=S 22 42,500 42,000 500
201 LBt 42,500 42,000 500
01 At 22l 42,000 42,000 0
Ongstaa 2elgs N
70,000& *500 & =128 42,000
02 2324l 500 0 500
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M HA
HH: HAS CABIEA
ool EAX HIIZ Hel (erg @)
5 - 4
SA - BB B (BA) - MM - BHES Ol &+ o4 e HmEET
Ost=staagsl altl 500,000& 500
HIIE MelAd 2¢ 14,629,423 10,043,940 4,585,483
201 L2l 4,285,668 3,940,340 345,328
01 At 22l 4,500 5,800 A 1,300
OAlg&el M@ o=l 1,500
— I =l 150,000& x5H 750
— oM St 150,000& x5H 750
O3 &edly RUAY =223 KX 22l
2,000,000& 2,000
ONEcsHE 32 =34 AL L 29
=l 1,000,000 1,000
02 =24l 4,281,168 3,934,540 346,628
OXNd=gdH 29 13 3,734,168
—&NIlea 130,000,000& =12 1,560,000
—SAIARZ 100,000,000& = 12& 1,200,000
— &Gt 10,000,000& x12& 120,000
—&d&+=Htl 12,190& +5,600= 123 819,168
—MHol8xe= 2,000,000& x12& 24,000
—ANEE USREFESE 11,000,000& x13] 11,000
OL2ZAIE DIl =2 147,000, 000 147,000
O=24aItA HiEsd 20 25,000& x16,000= 400,000
307 21201 A 10,341,755 6,100,000 4,241,755
05 RIZt2lEt = 10,341,755 6,100,000 4,241,755
OXdz=gdgye 294l 10,341,755
—22AE 29l 7,487,649,000& 14 7,487,649
— MBTAIEZ 2l 2,203,871,000& =1 2,203,871
—SAS2HelAlE 29 650,235,000 «1& 650,235
405 TtatF S| 2,000 3,600 A 1,600
01 HatU 2 EH S 2,000 3,600 ~1,600
OTUAY FH2E(He S) 2l
2,000,000& 2,000
MEEH F 23,900 3,200 20,700
201 L2l 5,000 3,200 1,800
01 At 22l 5,000 3,200 1,800
OMesZdHEH 858 #2 500,000 <10 A H 5,000
301 et A3z 18,900 0 18,900
09 &AL HIZ &S 18,900 0 18,900
OdMetstdZHl WA sS4l
7,000 90 104 Ml & x33] 18,900
NMEE =&XHH 243t 12,137,325 7,218,809 4,918,516
SESHQ HEES =2clthEs 24535t 218,080 200,680 17,400
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2N
X ZH -
L= B

el

A
S TAEE
ATEHes =&

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 10,596,984 6,855,720 3,741,264
05 RIZHRI & 3 10,596,984 6,855,720 3,741,264
oMass =& .28 t&ddl 7,555,000,000& 7,555,000
OoMges 48& QIIAEH  2,321,984,000& 2,321,984
ONgss & MeE Ml & 254l
120,000& *500= 123 720,000
308 XXl EHH SOl A 66,409 66,409 0
07 IXNHMARE = 66,409 66,409 0
ONess MdMHE HEX 8y =25
65,1063 +x85=+128 66,409
405 XtAtE SHI 183,960 0 183,960
01 AR EZFH S 183,960 0 183,960
oNgs4ded Holzd 2¢
170,000, 0003 = 1CH 170,000
omMgsded A 04 = 4,000,000& 4,000
OMEBEEE BIILEI| 2Y
2,600,000 »3CH 7,800
ongsd8d 2387 #+ 720,000 30K 2,160
MEMY I HHEES HE ALY 80,892 0 80,892
201 Let2d] 18,892 0 18,892
01 At 22l 18,892 0 18,892
OMEM I tHE23 HEAY 2] 8,892
— 39 A& 100,000 5% x33| 1,500
— A2 ZAr=E 130,000& » 1 36 Al 2t 4,680
— 298I JA=E 100,000& »3H 43| 1,200
— It S A 7,000& x54 & x43] 1,512
OMEMY I BHE23 HEAY EE2HI
10,000, 000& 10,000
303 &3 62,000 0 62,000
01 Z& = 62,000 0 62,000
OMEMY I HHEZS HEAY S35 NS
62,000,000 62,000
Hesagd 2 790,000 0 790,000
401 AIEHI L 2 CHYI 790,000 0 790,000
01 A& HI 790,000 0 790,000
OMEBHEE 28 JI2 L AL
790,000,000& 790,000
HEmHII=S 22l 4,080,940 3,499,840 581,100
HEmHIE =H ¥ Hal 4,080,940 3,499,840 581,100
201 Let24E] 33,840 29,880 3,960
01 At 2t 2l 15,840 11,880 3,960
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FA:E
X FH -
o Tt

el

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OUEHII= thg AlnZS H&
110& x4, 00000 *36 0 = 15,840
02 3524l 18,000 18,000 0
OUEHIIZ2XM2 & A& KX
1,500,000& x12& 18,000
307 212t01 & 4,047,100 3,469,960 577,140
05 A2t E = 4,047,100 3,469,960 577,140
OMEHIIS +=H, 28 &yl
2,750,000,000& 2,750,000
OMEHII =S WA /AESIHI
970,000,000& 970,000
OUgHII= MMHE Helbl
200,000& x9E*12& 21,600
OUgHII=2 WMs Ml L 254| 305,500
— OM= ™elyl 20,000& x4,700& 94,000
—IMs 254l 45,000& *4,700E 211,500
SAZF HIIS2 =HMH2Y |8 ¢ s 12,286,592 11,999, 441 287,151
SAEE HIIZ2 =H ¥ H™el 12,286,592 11,999, 441 287,151
201 et A H| 3,464,064 38,000 3,426,064
01 AF2 2t 2l Yl 3,399,493 15,000 3,384,493
OsAEMY I 23 =2
5,000,000& *x33] 15,000
OSAZERHIIZS(E€4+3) Myl
123,838& *27,330& 3,384,493
02 3524t 64,571 23,000 41,571
OSANZEMYIINESI| RFIDS D S A2l 56,000
—AEgXY S 29 10,956,000& 10,956
—FIXNY I 29 25,500,000 25,500
== 3,200,000& 3,200
—SNe3 2,818,000& 2,818
— 23537 S22yl 13,526,000& 13,526
OBAMNERHIIEZE =HLE BEas
840,360& =6 CH 5,043
OSAESRHIIZE +=HXZE 20 O Xtz
dEIl= 308,000& *6CH 1,848
OSAZSRHIIZE AN H20 2 2=
gz 280, 0003 =6CH 1,680
206 M = Hl 88,000 76,000 12,000
01 = bl 88,000 76,000 12,000
OSAEMHI] =HEI 7Y 88,000
—2&82:H EI1(25¢0 ) 8,000& *5,000H 40,000
—2d2H 211204 ) 80, 000& *600H 48,000
307 212t01 & 8,259,528 11,873,441 N3,613,913
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M HA
M HPE CABAZH
el SASE HIIZ +XHH2S 2E L N CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 8,259,528 11,873,441 A 3,613,913
OSAERHIIE =&, 28 &yl
8,259,528,000& 8,259,528
401 A& HIZ 201 I 50,000 0 50,000
01 A& HI 50,000 0 50,000
OSAZSRHIIZ RFIDE I MBS A
200,000& *250CH 50,000
405 XHoHF S HI 425,000 0 425,000
01 At ESFH S 425,000 0 425,000
OSAEFRHIIZE RFIDESEI 7L &X
1,700,000& »250CH 425,000
JWRe Helgtd =24 2,504,851 0 2,504,851
= 480,000
Al 2,024,851
rz2ed dA4 111,013 0 111,013
201 B2 | 95,513 0 95,513
01 At 2teltl 66,343 0 66,343
Ostzdilstd tola 2el 200,000 *6H 2 1,200
OJMN=2EALE 237l 140,000& =49 6,860
O=28EIl HII= AE8Hel =8
250,000& »200& 50,000
OMESZAZHIE AIZIEEIJADIH SRF 1=
=l 8,283
- 29 40,000& x14H 560
— &3t 20,0002 149 280
- =23 80,000& x14H 1,120
— gy 20,0002 x14H 280
—HEY 3003 x14H 61128 303
— OFM =) 30,000& 14 »2H 840
-5 350,000& x14H 4,900
02 =24l 29,170 0 29,170
OgZ0lst Uil 23234l 17,350
—&J=z 150,000& 60 A+ 123 10,800
—&ot+=& 50,0003 44 2= +12& 2,400
- A3 1,000,000 104 & 1,000
—olgs+ MER3(&4=2Xt) 350,0009 +9€ 3,150
OgZ0latd Bty =Z2x |FHl
1,800& *50¢ ~4CH+123 4,320
Ostdilstd tola |X2e ¥ HEsIFHl
250, 0002 *5IH & 6K A 7,500
301 ger2d=s 14,700 0 14,700
09 SALAHIEA S 14,700 0 14,700
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25 A
M HPE CABAZH
el WRE He#Y ZA (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Olz@Zd0led 22s8 AaX 2t
1,200,000 x12H 14,400
OJIZ&d0Isd a4 & Z AR ZOH|
300,000& x1H 300
405 XHo&HF S HI 800 0 800
01 XA 2 FF S| 800 0 800
O&Z0IsS NN WD 2|
200,000 =4CH 800
HAXE22| 1,433,838 0 1,433,838
201 et d| 638,838 0 638,838
01 AP 2t 2| H| 278,658 0 278,658
OXZBLHEAX =572 81,900
— Z2AEHAl 225,000& 10 =140 =10& 31,500
—=EHEH4 90,000& x4 =14CH =10 50,400
OXZ2L-HZH A HEA Helgl
64,5862 x250= «12& 193,758
ONSIDX(HEA)L2AY 250,000 128 3,000
02 22244 360, 180 0 360, 180
OFAXE B2 1,200,000 x22CH 26,400
OFAXE KXl 15,000,000 =22CH 330,000
OFAXE BHINLEEEZ 270,000 = 140CH 3,780
405 Ko SHI 795,000 0 795,000
01 XA 2 FF S| 795,000 0 795,000
OFAXE PH| 795,000
— LHALI}(12E) 265,000,000& =3 CH 795,000
FARZRY 960,000 0 960,000
= 480,000
Al 480,000
405 XH&HF S HI 960,000 0 960,000
= 480,000
Al 480,000
01 XL 2 FF S| 960,000 0 960,000
OFAXY 22 960,000
—MNZ2-HAAX(8.5E) 231,666,600 304 695,000
= 347,500
Al 347,500
— LHASI(12E) 265,000,000 = 1CH 265,000
= 132,500
Al 132,500
HE2IAH (EAW) 5,347,705 5,475,240 N 127,535
olea 2HH| 5,269,013 1,444,813 3,824,200
oyl 5,269,013 1,444,813 3,824,200
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2N
X ZH -
L= B

el

ro 0 o

Y 0H b

Ho MO &
0l
=2
o
IS
[

02 02

=5

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 5,269,013 1,444,813 3,824,200
02 JIEt& 2 == 427,530 0 427,530

OMBIBI AU AIZESTAI 228 9
24l 381,108
—Jles 1,710,580& x14H 123 287,378
—JtE+=E 10,080
- <Xt 40,0003 x 148 128 6,720
=Hl % 20,0003 x14H 128 3,360
—AESHIEZ+Y 450,000& x5H x4 3| 9,000
— Ag 2 X4l 91,8803 14 128 15,436
— ZWZ A 130,000& 14 128 21,840
— G2 &HH| 5,890% *70Al 2t x14H 5,773
—=U2RE 188, 100& »14H 128 31,601
OMSSHZHHIE AIZESTAINH SRE 2
i=k=3 46,422
— =303z 370,738,000 *45/1,000 16,684
—d2=2E 370,738,000% *30.6/1,000 11,345
LN UAEE
11,345,000% *65.5/1,000 744
— N8 370,738,000& *15/1,000 5,562
— M EE 370,738,000 *32.6/1,000 12,087
03 RIHAZZ T E =+ 4,841,483 1,444,813 3,396,670
Ostdilst SRA el 2,963,710
—Jlzs 1,593,014
- JI2H A EH(26H 0] 2F)
2,367,870&x49H 123 1,392,308
EA@|ser (2740012
2,389,350 x7H«12& 200,706
—&3z2+F 170,482
b2 E ABH(26E0(2)
1,521,430% 49K »23| 149,101
B IS (27E0le)
1,527,170 7 »23| 21,381
— &= 39,240
- i Xt 40,0003 x56H «12& 26,880
= - HlS 20,0003 x44H 128 10,560
I DNIE 30,0003 x5 128 1,800
—522fE 140,518
Jr2 A (2601 24)
95,590 «49H «2 5L« 12& 140,518
—gEzZzd 281,035
Jr2 & AEH(26E0]2H)
95,5003 x49H x5« 128 281,035
—Qlx=g 171,376
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M HA
M HY2IZH(HA)
& o 2d|
SA - ZE-B(EA) - NRAY - B S il &t o il
- Jt=2E APH(26H 01 2)
127,450 & 49H »24 A 149,882
- B oIS (27E01e)
127,940& +7H 24 21,494
— A2 22 301,091
L b2 EABH(26H10]2)
23,890 *49H 20 Al 2 x 12& 280,947
- B ZolseH(27E 018
23,980 «7H +10Al 2t 123 20,144
—ExYRE 85,0003 x56H «12& 57,120
—fN2Es+Y 50,000 x56H x12& 33,600
—AESHIEX Y 420,000& x2H #43| 3,360
— Y EAE 70,0003 x7H 128 5,880
— Al 50,0003 x56H «128 33,600
—opz2zg 133,394
Jt2 & A 8H(260]8t)
7,960 x28.5H x49A| 2t 12& 133,394
OgZ0ls SF2 Scl=4| 527,138
— M Z A 160,000& 56 H » 12& 107,520
—wnE2 X 140,000 56 H 122 94,080
— JtA2 =4I 110,000& 56 H » 12& 73,920
— ZE SO 204,578
Jr2 A (2601 2F)
1,825,720 *49H x23| 178,921
BZI|seH(27H 018
1,832,610% 7 »23| 25,657
— XA K&l 80,0003 x49H x12& 47,040
Ogdilata 2z 438,467
— =30z 3,490,848,000& *45/1,000 157,089
—Ad22E 3,490,848,000& *30.6/1,000 106,820
— LRI QA E
106,820,000& *65.5/1,000 6,997
—1E2E 3,490,848,000& *15/1,000 52,363
—&THEE 3,490,848,000& *33/1,000 115,198
OgZ0lad L=l 56,538
— &2 20,000& x56H 1,120
- 29 40,0003 x56H 2,240
— &3 20,000& 569H 1,120
- =23 80,000& x56H 4,480
— gete 20,0003 x56H 1,120
— Ystet 50,000& x56H 2,800
— getEy 20,000& x56H 1,120
- s 20,000& x564H 1,120
—0ta=2 2,000 x56F »4 4 448
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M HA
H: HHE2IAH (HA)
gel: o2yl eEH)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
— ¥y 300& x56H 61 x 122 1,210
— OFM )| 30,0003 *56H »2H 3,360
—ot= 150,000 56 % x2 & 16,800
—Fs= 350,000& 56 & 19,600
OstZ0Iatd CHEr M StA= CHO Ol Xt
10,000, 000& 5% x3/100 1,500
Ogdolsta M=saA X&Hl 60,0008 56 3,360
O=tdilstd OFRale AL XI&H
30,000& *56H 23| 3,360
OatZ0lz2td Mal24 3,000,000 3,000
Ostzdilatd EAz 23 844,410
—ExZ(FHEA) 120,000, 000& »7H 840,000
— 32 ¥ 20 130,000 »7 & 910
— 243 500,000& 7 3,500
|23l 78,692 59,052 19,640
Jl= &3 78,692 59,052 19,640
201 Let24E] 32,172 24,612 7,560
01 At 22l 32,172 24,612 7,560
ORAMNES2EII=ZdH 30,240
— 2 Et=ZH| 40,0003 x28H 128 13,440
— =S| 50,0003 28 128 16,800
OFAIRIEHl 94l 161,000& «12& 1,932
202 Oddl 40,320 30,240 10,080
01 = LH 4 Hi 40,320 30,240 10,080
OgEFAI=0Hl 120,000 x28H «12& 40,320
203 YR =2l 4,200 4,200 0
04 FN2IELSZ=TH| 4,200 4,200 0
ORAN2EYE=AHI 350,000& 12 4,200
405 XtatE SHI 2,000 0 2,000
01 AR ESFH S 2,000 0 2,000
OXAE t7¢ 200,000& =104 2,000
Hees(E3A) 2,000 25,920 A 23,920
EHH X = 2,000 0 2,000
gHet = 2,000 0 2,000
802 g+t = DI EF 2,000 0 2,000
03 Ugd=s 2,000 0 2,000
OUEHII= s Z20 GE tte&=2
2,000,000& 2,000
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